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Section 3.5: Summary of Curve Sketching
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1. + Question Details SCalcg8 3.5.001. |

Use the guidelines of this section to sketch the curve.
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2.+ Question Details SCalcg 3.5.003. Q@ (P @ﬂ(?) _ 7})\

Use the guidelines of this section to sketch the curve.
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3. + Question Details SCalc8 3.5.00E

Use the guidelines of this section to sketch the curve.
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+ Question Details SCalcg 3.5.006.

Use the guidelines of this section to sketch the curve.
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5. + Question Details SCalcg 2.5.009.
N
Use the guidelines of this section to sketch the curve. A \\y
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6.

+ Question Details

SCalc8 3.5.011. [

Use the guidelines of this section to sketch the curve.
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T. + Question Details SCalck 3.5.012. A%L}ad = g NGNS D

Use the guidelines of this section to sketch the curve.
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8.+ Question Details SCalcs 3.5.018. P (a- LY b 1s™)
Use the guidelines of this sectlc:n to sketch the curve. 5 = A dohp@)‘
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9,

+ Question Details SCalci 3.5.024.

A

Use the guidelines of this section to sketch the curve.
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10.  + Question Details

SCalcg 3.5.029.
Use the guidelines of this section to sketch the curve.
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11.  + Question Details SCalcg 3.5.034. [
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12.  + Question Details SCalc8 3.5.039

Use the guidelines of this section to sketch the curve.
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SCalc8 3.5.044. (3353708) (Add) — view (Ozm ) (e ) (—

Coroment: not randormized

Coulomb's Law states that the force of attraction between two charged particles is directly
proportional to the product of the charges and inversely proportional to the square of the distance

_between them. The figure shows particles with charge 1 located at positions 0 and 2 on a
coordinate line and a particle with charge —1 at a position x between them. It follows from
Coulomb's Law that the net force acting on the middle particle is

k k
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G x2 {x —2)2

where k is a positive constant.
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13. + Question Details 3Calcé 3.5.045.

Find an equation of the slant asymptote. Do not sketch the curve.
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Find an equation of the slant asymptote. Do not sketch the curve.
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15.

+ Question Details SCalck 3.5.049.

Use the guidelines of this section to sketch the curve. In guideline D find an equation of the slant asymptote.
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16.  + Question Details SCalcd 3.5.054.

Use the guidelines of this section to sketch the curve.
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17.  + Question Details SCalc8 3.5.503.

Use the guidelines of this section to sketch the curve. afE
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18. + Question Details SCalcg 35514,

Use the guidelines of this section to sketch the curve.
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